
math4u.vsb.cz

GRAPHS OF QUADRATIC FUNCTIONS

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

It is not enough to have a good mind; the main thing is to use it well.
René Descartes, French philosopher, mathematician, and scientist.

Match following graphs with their equations.

The puzzle is finished. You can see you score
or browse the questions again.
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a f (x) = x2 + 4x + 3f (x) = −x2 − 2x + 1f (x) = 2x2 − 12x + 14f (x) = 1
2x2 − x + 3

2f (x) = −2x2 + 4x − 2f (x) = −x2 − 2xf (x) = 0.2x2 + 0.8x + 1.5f (x) = x2 + x + 3
2

b f (x) = x2 + 4x + 3f (x) = −x2 − 2x + 1f (x) = 2x2 − 12x + 14f (x) = 1
2x2 − x + 3

2f (x) = −2x2 + 4x − 2f (x) = −x2 − 2xf (x) = 0.2x2 + 0.8x + 1.5f (x) = x2 + x + 3
2

c f (x) = x2 + 4x + 3f (x) = −x2 − 2x + 1f (x) = 2x2 − 12x + 14f (x) = 1
2x2 − x + 3

2f (x) = −2x2 + 4x − 2f (x) = −x2 − 2xf (x) = 0.2x2 + 0.8x + 1.5f (x) = x2 + x + 3
2

d f (x) = x2 + 4x + 3f (x) = −x2 − 2x + 1f (x) = 2x2 − 12x + 14f (x) = 1
2x2 − x + 3

2f (x) = −2x2 + 4x − 2f (x) = −x2 − 2xf (x) = 0.2x2 + 0.8x + 1.5f (x) = x2 + x + 3
2

e f (x) = x2 + 4x + 3f (x) = −x2 − 2x + 1f (x) = 2x2 − 12x + 14f (x) = 1
2x2 − x + 3

2f (x) = −2x2 + 4x − 2f (x) = −x2 − 2xf (x) = 0.2x2 + 0.8x + 1.5f (x) = x2 + x + 3
2

f f (x) = x2 + 4x + 3f (x) = −x2 − 2x + 1f (x) = 2x2 − 12x + 14f (x) = 1
2x2 − x + 3

2f (x) = −2x2 + 4x − 2f (x) = −x2 − 2xf (x) = 0.2x2 + 0.8x + 1.5f (x) = x2 + x + 3
2

g f (x) = x2 + 4x + 3f (x) = −x2 − 2x + 1f (x) = 2x2 − 12x + 14f (x) = 1
2x2 − x + 3

2f (x) = −2x2 + 4x − 2f (x) = −x2 − 2xf (x) = 0.2x2 + 0.8x + 1.5f (x) = x2 + x + 3
2

h f (x) = x2 + 4x + 3f (x) = −x2 − 2x + 1f (x) = 2x2 − 12x + 14f (x) = 1
2x2 − x + 3

2f (x) = −2x2 + 4x − 2f (x) = −x2 − 2xf (x) = 0.2x2 + 0.8x + 1.5f (x) = x2 + x + 3
2



You are the champion!You can go celebrate!Wow! Do your friends by any chance
call you Wolfram or maybe Alpha?

Good job, buddy!Perfect, keep it up!Almost there.
I’m sure you’ll even do better next time.

It almost couldn’t have been better.
Almost.

That’s like when you end up second in a
competition when you could have won it.
Good job, but you are no Einstein yet!Good work, have a biscuit.Don’t worry, your result is more than

half correct.
Hang in there, there is space for

improvement.
You can do better! You have to work

harder!
Making mistakes is better than faking

perfection.
All great scientists made some mistakes

in their life. Just like you.
Could be worse!That didn’t end up very well.

You should study more.
You avoided an F, but that doesn’t mean

you don’t have to study more.
You may not be a future Fields Medal
laureate, but you can do better on this

test.

Hey, it could be worse, right?Next time don’t multiply your knowledge
by zero.

The awkward moment, when the only
thing on your exam you know is your

name.

The stars weren’t aligned in your favour
today.

Have you ever seen the way a chicken
flies?

You solve math problems that way. . .

Your math knowledge
is just like the square root of −1.




